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! Answer any five questions from the following: 275 =10

fepsferfere (-t o5 2ite Tea e

(a) What do you mean by Inclusive Development?
weyfees Trme ere g & i 2

(b) Discuss how the Gender Development Index (GDI) can incorporate the gender
discrimination in development?
fors Tarwarpbas Tertwa forifefea srmarera fFola Toge 3 ¢

{(¢) State four characteristics of underdevelopment.
TR Biafb (i) Tree At

(d) Define poverty gap.
wIfAGHTa TG T WE |

(e) What is Hunger index”
R T FE T 7

(f) What do you mean by *Big push theory” in economic development?
wdftfos Tafers ‘(SRR OF 0o & @I 7

(g) What is multilateral agreement?
eI pie HI(F 90 ¢

(h) Explain the concept of Lorenz curve as a measure of inequality in income.
SRR Ao @ A Lorenz @RI 4—E 2101 el

2. Answer any four questions from the following: Sx4 =20

feferfare i-cotat s1afe e e wiee
(a) Can population pressure inevitably result in low level equilibrium trap in any
Less Developed Country?
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(b) Explain the concept of ‘Unequal Exchange’.
s R ar@anf i St
(¢) Write a note on choice of techniques.
2R *fRr¥a T @ F (B Bt @
(d) Briefly discuss Globalization from historical perspective
AfERIE Wi PR KA e b ke SisHl sl
(e) Write a short note on cumulative causation in economic development.
SRAREF TANCA FRIE PR et ot s Bl e
(D) Distinguish between balanced growth and unbalanced growth.

R BRI R SN BAITAR W& A o

3. Answer any fwo questions from the following: 10x2
fsfEie Q- 118 et Sea was
(a) Critically discuss the Harris-Todaro model.

- GreIl Moty @ f i St Sofes )

(b) What are the limitations of Head Count ratio and Poverty gap ratio in the
measurement of poverty? How does Sen’s poverty measure avoid these short
comings? Explain.
wifeEy AR e wels Seie gk wifte i Sgere gRet gita ket & & 9
GTea wifdm Aot safe Rrei @ @bk auie =i 2 e T '

(c) “Workers base their migration decision on their expected income”—Explain
this proposition with the help of a suitable model. Suggest some policy measures
to restrict such rural-urban migration in this context.

‘e oI I wieE fefers e e azd w@- 93l Bore worE
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(d) Discuss the World Bank approach to poverty eradication.
wifdw GNses e wide S s@tnh
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